DEFENSIVE AND COMETITIVE BIDDING

LEADS AND SIGNALS

EBL Convention Card

OVERCALLS(Style; Responses; 1/2level; Reopening) OPENING LEADS STYLE lst/2nd Seat tE L L
Nat: 1stlevel 8-15; 2nd level 10-15 Lead in Partner's Suit
Resp: new suit forcing Suit 3rd/5th 3rd/5th Category Blue
NT 3rd/5th 3rd/5th Country: Estonia
Subseq | same Same Event: Senior
Other: Players: Maksim KARPOV - Vassili LEVENKO
1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS SYSTEM SUMMARY
after Opp's 1C/D 16-18 Bal (4th pos. 11-14) Lead Vs.Suit Vs. NT GENERAL APPROACH AND STYLE
after Opp's 1H/S 10-15 44/¥ & 5 in a minor Ace AK(X) : AX(X) A asks enc/desc 14 15+
King AK(X) ; KQ(X) ; Kx K asks to unblock 14 12-14, no 5-card Major, Unbal
Queen QJ(x); Qx KQ(x) ; QJ(x) ; Qx lw/e 11-14, 5+Nat
Jack J10(x) ; Jx same
JUMP OVERCALLS(Style; Responses; Unusual NT) 10 H109(x) ; 109(x) ; 10x same
1-Suit: 6+Nat: 7-9/10-12/13-15 NV-vs-V/Equal V/V-vs-NV 9 H109(x) ; 9x same 1NT Openings: 12-14 might be long minor
2-Suit: 2nt: minors after (1C/H/S); Club+Major after (1D Nat) Hi-x 0X(x) 0X(x) 2 OVER 1 Responses: F1
Lo-x SPECIAL BIDS THAT MAY REQUIRE DEFENCE
Reopening: SIGNALS IN ORDER OF PRIORITY 14 15+
DIRECT and JUMP CUE BIDS ( Style; Responses; Reopening) Partner's Lead Declarer's Lead Discarding 14 12-14, no 5-card Major, Unbal
Michaels 10+ Suit:1st [ lo=disc; hizenc Smith (h/l enc) ltalian 2# 7-10 at least 54 Majors
2nd Hillo = even Hillo = even Lavinthal 24 Multi
3rd 29 11-14 6+ & 4¢
NT: 1st | lo=disc; hi=enc Smith (h/l enc) ltalian 26 11-14 6+¢ & 44
VS. NT(vs. Strong/Weak; Reopening;PH) 2nd Hillo = even Hillo = even Lavinthal 2NT 11-14 at least 55 Minors
2C=54 v+e; 2D = 6+9/#; 2H/S=Nat + #/¢; 2NT=4++¢ 3rd 3NT Gamling in any suit

DBL=15+ (after weak NT)/long #/¢ (after strong NT)

Signals (including Trumps):

Italian, Lavinthal, Smith

VS.PREEMPTS( Doubles; Cue-bids; Jumps; NT bids)

Dbl=T/O; NT=(15)16-18(19) Nat

DOUBLES

TAKEOUT DOUBLES(Style;Responses;Reopening)

VS. ARTIFICIAL STRONG OPENINGS

Dbl=Nat; a suit=NAT; INT=#+4¢ ; 2C=v+e&

12+, usually at least 2 unbid suits or any strong (16+ P)

Responses : NAT; NT = constr. ; cue & jump = F1 (10+ P)

SPECIAL FORCING PASS SEQUENCES

OVER OPPONENTS' TAKE OUT DOUBLE

SPECIAL,ARTIFICIAL AND COMPETITIVE DOUBLES/REDOUBLES

1#-(Dbl): -Pas=0-8; Rdbl/1X=9+, 5+&/Nat; 1NT/2C=Bal, #stop yes/no

14/%/a-(Dbl) - ReDbI=NAT, positive; 1X=F1; INT/2X=NF

Negative; Lightner;

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

it - (Dbl) - Note 7

Different systems 1st/2nd & 3rd/4th hands

24-(Dbl): -Pas=6+4#; -Rdbl=6+4; 2¢=asks

24-(Dbl): Pas=6++; Rdbl=6+4

2¥/4-(Dbl): -Pas=6+v/4; -Rdbl=Pen; 2NT=relay;

Psychics: Allowed

2nt-(Dbl): -Pas=#8&#¢ equal length; Rdbl=Pen




TICK|MIN NO.| NEG.
OPEN IF OF DBL. DESCRIPTION RESPONSES SUBSEQUENT AUCTION COMPET/PASSED
ART.[ CARDS | THRU
18 . . . 15+ (excl. 18-19 Bal) 105, 1HS/2C/D-0+. Srwiaare D1I:\;1D-1v/g=3+v/9, F1 (Note 8); 14-1D-1nt/2nt/3nt=15-17/20-21 (Bal, no 4-card ¥/a)/to 1a-(1) - Dbl=9+
14-1D-24/¢=NF; 14-1D-2v/a (Note 9); 14-1D-34/4=FG, 6+ Nat; 14-1D-3v/a=FG, 55
1NT=9+, Bal; 2H/S=(5)6-8, 6+¥/a minors
ONT/3CIDIH=9+, 4441 (1 in a/a/e/¥) after1#-1H-14-2S Or 14-1S-2¥-3H Or 1#-2C/D-2v/4-3H/S: a suit=cue bid; 2/3nt=RKC
3S/NT=Any AKQxx/AKQXXXX 14-1NT (Note6); 14-3S/NT-44 (suit?)-4D/H/SINT=TRF: ¥/a/#/+; 14-35/NT-44=7 (Note 4)
1¢ x 0 3 |11-14 UnBal, no 5-card Major | ;g5 nat; 1NT=6-10 NF ; 14-1H-:24=max 44 & 6+Minor (Note 10); 14-1S-:2¥=max 4¥ & 6+Minor (Note 10); Leb; 14-(1nt) : -Dbl=Pen
2C/D = Nat, FG, no 4-card ¥/ 14-1H/S-: 2nt=Max 6+ #/¢ (Note 11); 3#/4=6+Nat & 3¥/4 (Note 12); 3¥/a=fit+6+&/¢ 2C=54 v+4; 2D=6+¥/a;
2H/S=15+ Nat 6+ good; 3C/D=Inv, 6+Naj 14-1NT-: 2&/¢=Nat; 2¥/a=4¥/4+64/¢; 1¢-(Pas)-1H/S-(1X/2X)-Dbl=3¥/4, not Min 2H/S=5%/a+44/¢
2NT = 11-12 Inv; 3H/S = Nat, sign-off | 14-2C/D-: 2¢=4+¢;2%/4=Stop in ¥/4 no Stop in 4/¥; 2nt= Stop in ¥+4; 34/¢=no Stop in ¥+4 | 2NT=55 &++; 3X=Pre
1v/a 5 say | 11-14 5+Nat 1NT=SF; 2C/D=10+Nat; 3H/S=Pre 19/a-2NT-: 3X=Short; -3v/4=Min; 3nt=15-16 5332; 34/44/¢/¥=Max, Cue Leb, Drury
ONT = 34w/, Inve: 19/4-2C/D - 2x-2NT=FG
2S/3C/D/H=15+, Good 6+Nat
3S/4C/D/H=Splinter (3-4 Contr, 4+v/4)
INT 2 3 |12-14 Bal, may be long Minor | 5c_gre) (Note 3); 20/H=TRF ; 1nt-25-2nt/34=min/max: 3C/D=SignOff; 4C/D=RKC Leb
2S=TRF to #/¢ OR Inv to 3nt 1nt-2NT-34/e=best minor: Pas (if weak): 3H/S=GF, 1v/a (Dbl) : Notes 7.1, 7.2
2NT=5+5+ #&+; 3X=Nat 6+ 2TH
4C=55 v+4, 4D/H = TRF
2 X 0 nfa  [(7)8-10(11) 54 v+a 2D=Rel; 2H/S=NF; 2NT=Inv; 3C/D=NF; | ;. 55 5. 2y/a = jonger suit 2C-(opp3C/D) -
24-2D-2v/4: - 1.Step=FG; -2+.Step=Nat, Inv Dbl asks for longer M
2¢ X 0 Va | nsao(1) e+via 2H/S=pass/correct; 20-2NT-: 34/e=max, ¥/a; 3¥/a=min, v/a. Dbl=show-own_suiit
18-19 Bal 2NT=Strong Rel;
2y X 0 Va | (11)12-14 6+a84e 25=6+4, inv; 2NT=Inv+ 29-2NT-: 34=min, 3¢/¥/a=max, short ¥&a/v/a
24-2NT-34-: 3D=to play; 3H/S=Nat; 4C/D=RKC#/+
24 X 0 Va | (11)12-14 6+eaas 2NT=Inv+; 3H=6+v, inv 24-2NT-: 3a=min; 3+/¥/a=max, short v&a/¥/a
24-2NT-34-: 3D=to play; 3H/S=Nat; 4C/D=RKC#/+
2NT X n/a  f(11)12-14 5+a85+e 3H/S=FG, Nat; 4H/S=RKC#/+
3% 6 n/a Pre
3¢ 6 n/a Pre
3v 6 n/a Pre
3e 6 n/a |Pre High Level Bidding
3NT X n/a 4X=pasfcorr; 4D=asks short (Note 4) Cue bids = 1st/2nd round; RKC (steps: 1/4; 0/3; 2,no Q; 2+Q); splinters ;
4s 7 nfa  |pre After FG: fit 2v/4/3¥/a --> RKC, 3HS=RKG; fit 3HS-->cue, RKC=4NT. fit 4CD=RKC
4e 7 n/a Pre |!f RKC answer=last step (for ex. 2aces+Q), then last+1 step=main suit is 1 card longer etc
4v 7 n/a Pre
44 7 n/a Pre
ANT X n/a Minors
5a 8 n/a
5¢ 8 n/a
5v 8 n/a
54 8 n/a

5NT




Note #

Description

1 RKC=asking aces(5 aces), by steps: 1/4; 0/3; 2, no Q; 2+Q; 2+Q & suit is 1 card longer; etc.
if answer doesn't show Q, 1. step asks for Q, answers:
Q+1K--> suit of K; Q+2K--> NT; Q+0K-->6 in the trump suit; no Q--> trump suit
2 after RKC suit:1)control in the suit (if partners didn't bid it);2)quality (partners bid it)
21 Answers to Contr: Step1=No I/II round; Step2=II round; Step3=I round; Step4=A&K
2.2 Answers to Qual: Stepl=no Q/K/A; Step2=Q/AK; Step3=K/AQ; Step4=A/KQ; Step5=Q&K&A
3 1nt-2C-:
3.1 1nt-2C-24-2H=FG:-2#=44/54m;-2nt=4333;3#=6+4;34=6+¢
1nt-2C-2¢: 2S=GI, 5¢+4%; 2N=GI; 3C/D=FG, 5+4/¢; 3H/S=Smolen
3.2 1nt-2C-29-2S=FG:-2nt=5+8/4;38#=48;34=3-4-4-2;39=2-4-4-3,;36=3-4-3-3;
3.3 1nt-2C-28-3C=FG:34=4/5¢;39=4-3-2-4;36=4-2-3/2-4/5;3nt=4-3-3-3
3.3 TNt-2C-2nt-3C=FG:3¢=4-4-3-2,39=4-4-2-3;
4 3nt Or 1#-3S/NT - 4¢=asks shortness (knows partner's suit)
41 own suit=%: 4H=no shortness; 45/NT/5C=shortness in &/ /&
4.2 own suit=®: 4S=no shortness; 4H/NT/5C=shortness in #/¢/®
4.3 own suit=®#: 5C=no shortness; 4H/S/NT=shortness in ¢/®/®
4.4 own suit=¢: 5D=no shortness; 4H/S/NT=shortness in #/®/®
6 14-1NT-: 24=17+ Rel; 15-16: 2¢=Bal Or 5+%/¢; 2v/e=5+Nat; 2nt/34/¢/9v=15-16,4441, Short Nat; 36=55 #&+¢
6.1 14-1NT-2#=17+, Rel; After answer 1st Step=Rel, 3nt=to play, 4 #=GameStopper(GS); 2+Step=RKC
6.2 (12-14) 18#-INT-2#-2D=12-14 (25=Rel -->analog 9-11)
6.3 (15+) 14-1NT-2#-2H=15+ (2#=Rel --> analog 9-11 (+ 1 step))
6.4 (9-11) 18-INT-28-25=49-2nt-: 3C=4®; 3D=4®; 3H=3-4-4-2; 35=2-4-4-3; 3NT=3-4-3-3
18-INT-28-2NT=4@#-3&-: 3D=4&: 3H=4-3-4-2; 35=4-2-4-3; 3NT=4-3-3-4
18-1NT-24-3C=48-34-: 3H=3-2-4-4; 35=2-3-4-4; 3NT=3-3-3-4
14-1NT-24-3D=3-3-4-3
71 int-(Dbl=Pen): -Pas=Nat; Rdbl=Pen; 2C/D/H/S=NF, 5+Nat;
1nt-(DbI=Pen): -2NT=55 #+4; -3C=5#+59/@# (36=7); 3D=4+9/8; 3H=v+8;
7.2 1nt-(Dbl=Not Pen): -Pas=Nat; Rdbl=Pen; 2C+ as in System
7.3 (1e=Nat)-1nt-(Dbl):-Pas=Nat;-Rdbl=0Opener bid 2#;-2C=44 #+any;-2D/H/S=5+Nat
(T#=Nat)-1nt-(Dbl)-Rdbl-(Pas)-2#-(Pas): -Pas=5+#, -2D=44+49/e, -2H=44 o1 é
8 14-1D-19/@: 4+9/@ (3%/@ if 58/ ¢ & strong hand=FG on 6-8 OR 22+ BAL)
8.1 14-1D-19: -15=0-8 4+®; -1NT=0-5; -2H/3H=0-5/6-8 4%; -2C/D/S/NT=6-8 5+Nat; -3C/D=Suit+Fit
8.2 14-1D-1@: -1NT=0-5; -25/35=0-5/6-8 4®; -2C/D/H/NT=6-8 5+Nat; -3C/D/H=Suit+Fit
9 1#-1D-2%/e: FG, if fit (xxx or Fx) or 6-8
9.1 14-1D-29: if no fit: -25/NT=0-5/6-8; if fit: -3C/D=0-5/6-8; 14-1D-29-25-39=NF
9.2 14-1D-2@: if no fit: -2NT/3C=0-5/6-8; if fit: -3D/H=0-5/6-8; 1#-1D-28#-2NT-38#=NF

10

1¢-1TH/S-287%: -2NT=FG; -3C=Pas/ Correct




11.1

1¢-1H/S-2nt: -5/4C=Pas/Correct; -3H/S=NF 6+Nat; -3S/H=stopper

11.2

14-1H/S-2nt: -3D=FG, ask (39/®#=6+%/4¢)

12

1¢-1H/5-32/¢ (6+%/¢ & 39/ ®): -3H/S=NF




DEFENSIVE AND COMETITIVE BIDDING

LEADS AND SIGNALS

OVERCALLS(Style; Responses; 1/2level; Reopening)

OPENING LEADS STYLE

EBL Convention Card

3rd/4th Seat

Nat: 1stlevel 8-15; 2nd level 10-15 Lead in Partner's Suit
Resp: new suit forcing Suit 3rd/5th 3rd/5th Category Blue

NT 3rd/5th 3rd/5th Country: Estonia

Subseq | same Same Event: Senior

Other: Players: Maksim KARPOV - Vassili LEVENKO
1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS SYSTEM SUMMARY
after Opp's 1C/D 16-18 Bal (4th pos. 11-14) Lead Vs.Suit Vs. NT GENERAL APPROACH AND STYLE
after Opp's 1H/S 10-15 44/¥ & 5 in a minor Ace AK(X) : AX(X) A asks enc/desc 14 16+

King AK(X) ; KQ(X) ; Kx K asks to unblock 14 12-15, no 5-card Major

Queen QJ(x); Qx KQ(x) ; QJ(x) ; Qx lw/e (9) 11-15, 5+Nat

Jack J10(x) ; Jx same
JUMP OVERCALLS(Style; Responses; Unusual NT) 10 H109(x) ; 109(x) ; 10x same
1-Suit: 6+Nat: 7-9/10-12/13-15 NV-vs-V/Equal V/V-vs-NV 9 H109(x) ; 9x same 1NT Openings: 15-17 might be 5-card Minor
2-Suit: 2nt: minors after (1C/H/S); Club+Major after (1D Nat) Hi-x 0X(x) 0X(x) 2 OVER 1 Responses: NF

Lo-X SPECIAL BIDS THAT MAY REQUIRE DEFENCE
Reopening: SIGNALS IN ORDER OF PRIORITY 14 16+
DIRECT and JUMP CUE BIDS ( Style; Responses; Reopening) Partner's Lead Declarer's Lead Discarding 14 12-15, no 5-card Major, Unbal
Michaels 10+ Suit:1st [ lo=disc; hizenc Smith (h/l enc) ltalian 2# 7-10 at least 54 Majors

2nd Hillo = even Hillo = even Lavinthal 24 55 Major-Minor

3rd 2NT 55 Minors

NT: 1st | lo=disc; hi=enc Smith (h/l enc) ltalian 3NT Gamling in any suit
VS. NT(vs. Strong/Weak; Reopening;PH) 2nd Hillo = even Hillo = even Lavinthal
2C=54 v+e; 2D = 6+9/#; 2H/S=Nat + #/¢; 2NT=4++¢ 3rd

DBL=15+ (after weak NT)/long #/¢ (after strong NT)

Signals (including Trumps):

Italian, Lavinthal, Smith

VS.PREEMPTS( Doubles; Cue-bids; Jumps; NT bids)

Dbl=T/O; NT=(15)16-18(19) Nat

DOUBLES

TAKEOUT DOUBLES(Style;Responses;Reopening)

VS. ARTIFICIAL STRONG OPENINGS

Dbl=Nat; a suit=NAT; INT=#+4¢ ; 2C=v+e&

12+, usually at least 2 unbid suits or any strong (16+ P)

Responses : NAT; NT = constr. ; cue & jump = F1 (10+ P)

SPECIAL FORCING PASS SEQUENCES

OVER OPPONENTS' TAKE OUT DOUBLE

SPECIAL,ARTIFICIAL AND COMPETITIVE DOUBLES/REDOUBLES

14#-(Dbl): -Pas=0-7; Rdbl/1X=8+, 5+&/Nat; 1NT/2C=Bal, #stop yes/no

14/9/a-(Dbl) - ReDbI=NAT, positive;

Negative; Lightner;

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

it - (Dbl) - Note 7

Different systems 1st/2nd & 3rd/4th hands

24-(Dbl): -Pas=6+4#; -Rdbl=6+4; 2¢=asks

24-(Dbl): a suit=Pas/Corr

29/a-(Dbl): Nat

Psychics: Allowed

2nt-(Dbl): -Pas=#&¢ equal length;




TICK|MIN NO.| NEG.
OPEN IF OF DBL. DESCRIPTION RESPONSES SUBSEQUENT AUCTION COMPET/PASSED
ART.[ CARDS | THRU
1o . R |16+ (xcl 1617 8a) D05, 1HS2GID8s. Srvialals D1I:\;1D-1v/g=3+v/9, FT (Note 8); T4-1D-Tnt2nU3ni=15-17/20-21 (Bal, no d-card wiaylo | "0 "0 o,
14-1D-24/¢=NF; 14-1D-2v/a (Note 9); 14-1D-34/4=FG, 6+ Nat; 14-1D-3¥/a=FG, 55
ANT=8+, Bal; 2H/S=(4)5-7, 6+¥/a minors
INTI3C/DIH=8+, 4441 (1 in a/ale/¥) after1#-1H-14-2S Or 14-15-29-3H Or 14-2C/D-2v/-3H/S: a suit=cue bid; 2/3nt=RKC
14-1NT (Note6);
1¢ X 0 34 [!1-15 UnBal, no 5-card Major 1H/S=5+ Nat; INT=6-10 NF ; 14-1H-28/4=Max, 5+4 48+/+84 Leb; 14-(1nt) : -Dbl=Pen
2C/D = Nat, no 4-card v/a 14-1H-:24=max 44 & 6+Minor (Note 10); 1¢-1S-:2¥=max 4% & 6+Minor (Note 10); 2C=54 v+4; 2D=6+¥/4;
2H/S=10-11 5v/a; 3C/D=Inv, 6+Nat 19-1H/S-: 2nt=Max 6+ #/# (Note 11); 38/¢=6+Nat & 3v/a (Note 12); 3w/a=fit+6+a/e 2H/S=5v/a+4a/s
ONT = 11-12 Inv; 10-1NT-: 24/4=Nat; 2¥/a=4v/a+68/s; 14-(Pas)-1H/S-(1X/2X)-Dbl=3v/a, not Min ONT=55 a+4; 3X=Pre
1v/a 5 3ay  |11-155+Nat 1NT=NF; 2C=Drury; 3H/S=Pre 1v/a-2NT-; 3X=Short; -3v/a=Min; 3nt=15-16 5332; 3a/44/s/¥=Max, Cue Leb, Drury
19/4-2C/D - 2x-2NT=FG
INT 2 34 15-17 Bal, may be 5-card Minor 2C=Rel (Note 3); 2D/H=TRF ; 1nt-2S-2nt/34=min/max: 3C/D=SignOff; 4C/D=RKC Leb
2S=TRF to #/¢ OR Inv to 3nt 1nt-2NT-34/e=best minor: Pas (if weak): 3H/S=GF, 1v/a (Dbl) : Notes 7.1, 7.2
2NT=5+5+ #&+; 3C/D=Nat 6+ 2TH
2% e 0 n/a  |7-10(11) 54 v+a 3rd hand 2D=Rel; 2HIS=NF; 2NT=Inv; 3C/D=NF; | 5, o0 5. 2/a = jonger suit B—
(11)12-13 54 v+# 4th hand 24-2D-2¥/a: Nat, Inv Dbl asks for longer M
2¢ X 0 n/a  |7-10(11) 55 Major-Minor 3rd hand 2H/S=pass/correct: Dbl=show-own_suit
(11)12-13 55 Major-Minor 4th hand
2y X 0 N2 |7.15 6+v 3rd hand 2NT=Rel, Inv 29-2NT-: 3¥=min, 3&/+/a=max, short Nat
10-15 6+¥ 4th hand
24 X 0 N2 7,15 6+a 3rd hand 2NT=Rel, Inv 24-2NT-: 3a=min, 3&/+/¥=max, short Nat
10-15 6+4 4th hand
2NT X /2 |(10)11-12(13) 5+485+e Nat
38 6 n/a (10)11-12(13) 6+# 3X=Stop
3¢ 6 n/a (10)11-12(13) 6+ 3X=Stop
3y 6 n/a Pre
3e 6 n/a |Pre High Level Bidding
3NT X n/a 4X=paslcorr; 4D=asks short (Note 4) Cue bids = 1st/2nd round; RKC (steps: 1/4; 0/3; 2,no Q; 2+Q); splinters ;
4e 7 nfa  |pre After FG: fit 2v/4/3v/a --> RKC, 3HS=RKC; fit 3HS-->cue, RKC=4NT; fit 4CD=RKC
4¢ 7 n/a Pre |!f RKC answer=last step (for ex. 2aces+Q), then last+1 step=main suit is 1 card longer etc
4v 7 n/a Pre
44 7 n/a Pre
ANT X n/a Minors
5a 8 n/a
5¢ 8 n/a
5v 8 n/a
54 8 n/a

5NT




Note # Description

1 RKC=asking aces(5 aces), by steps: 1/4; 0/3; 2, no Q; 2+Q; 2+Q & suit is 1 card longer; etc.

if answer doesn't show Q, 1. step asks for Q, answers:
Q+1K--> suit of K; Q+2K--> NT; Q+0K-->6 in the trump suit; no Q--> trump suit

2 after RKC suit:1)control in the suit (if partners didn't bid it);2)quality (partners bid it)

21 Answers to Contr: Step1=No I/II round; Step2=II round; Step3=I round; Step4=A&K

2.2 Answers to Qual: Stepl=no Q/K/A; Step2=Q/AK; Step3=K/AQ; Step4=A/KQ; Step5=Q&K&A

3 int-2C-:

3.1 1nt-2C-24-2H=FG:-2#=44m;-2nt=4333;3#=5#, Max;3¢/v/e=5¢+Dubl, Max
1nt-2C-2¢: 2S=GI, 5¢+4%; 2N=GI; 3C/D=FG, 5+4/¢; 3H/S=Smolen

3.2 1nt-2C-29-2S=FG:-2nt=3-4-3-3;3#=44#;34=3-4-4-2,;39=2-4-4-3;

3.3 1nt-2C-28-3C=FG:34=44¢;39=4-3-2-4;36=4-2-3-4;3nt=4-3-3-3

3.3 1nt-2C-2nt-3C=FG:34=4-4-3-2;39=4-4-2-3;

4 3nt - 4¢=asks shortness (knows partner's suit)

41 own suit=%: 4H=no shortness; 45/NT/5C=shortness in &/ /&

4.2 own suit=®: 4S=no shortness; 4H/NT/5C=shortness in #/¢/®

4.3 own suit=®#: 5C=no shortness; 4H/S/NT=shortness in ¢/®/®

4.4 own suit=¢: 5D=no shortness; 4H/S/NT=shortness in #/®/®

6 14-1NT-: 24=18+ Rel; 16-17: 2¢=5+4/¢; 2v/6=5+Nat; 2nt/34/¢/9=4441, Short Nat; 3¢=55 #&+¢

6.1 14-1NT-2#=18+, Rel; After answer 1st Step=Rel, 3nt=to play, 4 #=GameStopper(GS); 2+Step=RKC

6.2 1#-INT-2#-2D=10-11 (2®=Rel --> analog 8-9)

6.3 14-1NT-28-2H=8-9 5332 ¥/®/8#-26-: 2NT=5%; 3C=58; 3D/H/S=5%+Dubl

6.4 18-INT-28-25=49-2nt-: 3C=4®; 3D=4®; 3H=3-4-4-2; 35=2-4-4-3; 3NT=3-4-3-3

18-1INT-28-2NT=4@-3&-: 3D=4®; 3H=4-3-4-2; 35=4-2-4-3; 3NT=4-3-3-4
18-INT-24-3C=4%-3¢-: 3H=3-2-4-4; 35=2-3-4-4; 3NT=3-3-3-4
18-1NT-24-3D=3-3-4-3; 3H/S/NT=54332 + Dubl

71 int-(Dbl=Pen): -Pas=Nat; Rdbl=Pen; 2C/D/H/S=NF, 5+Nat;
1nt-(Dbl=Pen): -2NT=55 #+4; -3C=58+59/# (3¢=7); 3D=¢+v/8; 3H=9+8;

7.2 1nt-(Dbl=Not Pen): -Pas=Nat; Rdbl=Pen; 2C+ as in System

7.3 (1e=Nat)-1nt-(Dbl):-Pas=Nat;-Rdbl=0Opener bid 2#;-2C=44 #+any;-2D/H/S=5+Nat
(T#=Nat)-1nt-(DbN)-Rdbl-(Pas)-2#-(Pas): -Pas=5+#, -2D=4¢149/8; -2H=44 v+ &

8 14-1D-19/@: 4+9/@ (3%/@ if 58/ ¢ & strong hand=FG on 5-7 OR 23+ BAL)
8.1 14-1D-19: -15=0-7 4+®; -1NT=0-4; -2H/3H=0-4/5-7 49; -2C/D/S/NT=5-7 5+Nat; -3C/D=Suit+Fit
8.2 14-1D-1@: -1NT=0-5; -25/35=0-5/6-8 4®; -2C/D/H/NT=6-8 5+Nat; -3C/D/H=Suit+Fit

9 1#-1D-2%/@: FG, if fit (xxx or Fx) or 5-7
9.1 14-1D-29: if no fit: -25/NT=0-4/5-7 if fit: -3C/D=0-4/5-7; 1#-1D-29-25-39=NF
9.2 14-1D-2®: if no fit: -2NT/3C=0-4/5-7; if fit: -3D/H=0-4/5-7; 18-1D-2@#-2NT-3@#=NF
10 10-1H/S-29/=: =-2NT=FG; -3C=Pas/Correct




11.1

T¢-1H/S-2nt: -3/4C=Pas/Correct; -35/H=stopper

11.2

14-1H/S-2nt: -3D=FG, ask (39/®#=6+%/4¢)

12

1¢-1H/5-32/¢ (6+%/¢ & 39/ ®): -3H/S=NF




